Additdon With Decimal - A

ADD : (Vertical)
Example 1
Wehc?r?wjidgf 2.8 1 b‘ringthe 2. ci:r6:e14 2.8
:eed to|rr,1yake 56.6 str;;ltrga;wn 56.6 1 +2yth2 =17 56.6 =
lined up.
Solve :
31.4 3.7 36.02 70.03 5.3
0.2 2.4 22 .1 1.15 0.02
9.32 4 .58 1.006 47 .00 0.4006
0.28 13.111 0.432 2 .26 0.002
ADD : (Horizontal)
Example :
you need to
4.7+0.16 rewrite the 4.7
4.7 problem with 0.16
0.16 the decimals
- lined up. 4.86
Solve :

13.23 +2.13 2)0.06 + 61.3 3)107.2+ 42.2

40.77 +70 50.008+ 0.03 6)32.56+5.611
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